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8. TS ¢t + B - 9] 7|52 WolA FofA o]

ol = shod=t.

ofy

—20(—8)050(—2) = —1

11, thg 2 o] Ll MgA0R £ 227

. ——
@ (=3) + (+5) @ (=3)—(-5)
® (+1) + (-3) @ (=3)+ (+1)
® (=5) + (+3)

12. o] B w, (—1)7 4 (1)1 — (~1)"1 o] g2

-3 @-2 B®-1 @®o ®1

a=T7—{8+(1-5)+6},b=(-2%) +(-4) x
(=5 —11)

c=16—{9— (-7} = (-4),d= -7+ (-3)3+
(=9)+(=8)

@Da bc,d @a,dc,b @b d e a

@ ¢, d, a,b ® ¢ oa, d b

14. ofe) EAA 712, A2, fAA] PO AH5E
geE 1 gL BE 20 0, 0, 6, @, &) qute

2 1@ 6 |-4
= - . ®|-3| 3 |-1
59 &2 otoek

4 71® | -4

@ ®|-2| 8

15. &= 4= a, b 7} g2 WEUH 0 + b & TSkt

a+3+(-2)=—-4,(-18)+b+3=1




